Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register Company Name: Name of Contractor Nature of work Work done Sl. Villa/Flat/block in No. 1. 2. 10 10 10 10 10 10 10 10 10 10 10 10 10	M Fre	RMIP Chaves The fix om Date	স	Dat Reg Site	c - site l pister :	rills	19/ GM	05/2003
Name of Contractor Nature of work Work done Sl. Villa/Flat/block r. No.	Fre	bhavee	য়	Site):			
Work done Sl. Villa/Flat/block r. No.	Fre	bhavee	স_					
Work done Sl. Villa/Flat/block r. No. 1.	Fre	iles fix	7				- Andread - Andr	5
Sl. Villa/Flat/block r No.	Fro	m Date	^					
No.	10.	Date	بهجوت	-10	onle	4-	00	
1. Consider 1	10.		196	1011	T	o Date		
Consider 1		Qty.	Ra	te	Units	Am	ount	O2.2011 Contractor
2. 101 11	mail	4691	1	- /		-		bill no
ATM OF	1	T D	1	7/-	11-2	79	852/-	
1-20-10 100-1			-					
ort R-11.1			-					
5. 1st with fine			-					
5. 1st 4th 6 oth of	Sin							-
7. Skisting	\rightarrow	1380	17	-/-	Rft/-	17 (1//1	
8.					N. C.	ESIH	66/-	
9.						-		
10.				-				
11								
11	otal:					/		
Bill required	O YE	S YNO.		GCT L	:11	1033	18/-	
Measurement &	_	quired			ill require	- 1	OYES C	NO.
estimate sheet:		quirea t required	1	Measu	rement &		Enclos	ed
PO/WO no.		roquirea			te sheet:		□ Not end	
Remarks:				PO/W(oate:			
-								
		gr.						
			-					
pproved by Project Man	ager	Approve	ed by	Dacion	Tone			
ate: 19/5/11	17	Date:	ou by		1 eam	Appro	ved by M	LD.
	0.1	IJATO.			1.			
gn: (9/6)	10	Sign:				Date:		1

Notes: 1. This advice must be sent within 7 days of completing work, 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Company Name: MRMLLP Approved by: Ramprasad Project: Gulmohar Residency 4 Approved by: Ramprasad Work Description: Flooring tiles laying work done in B- 6th floor Corridor 5 ign: 5 ign: Contractor Name: Mahaveer 5 ign: 5 ign: Prepared By Madhan 5 ign: 6 ign: Bate: 25.02.222 25.02.222 5 ign: 6 ign: S No. Item Head Item Description Quantity Units Rate Amount 1 Corriddor tiles Flooring Flat no. 1 to 8 4697.18 Sft 17.00 79,852 2 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT 17.00 23,466 3 1380.36 RFT 17.00 23,466 103,318	ESTIMATE SHEET							
Gulmohar Residency Secription: Flooring tiles laying work done in B- 6th floor Corridor or Name: Mahaveer Madhan 25.02.222 No. Item Head Item Description Quantity Units Ra Tiles Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor Corriddor tiles Flooring Flat no. 1 to 8 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT 17 To the secription RFT 18 To the sec	Company Name:	MRMLLP						
Secription: Flooring tiles laying work done in B- 6th floor Corridor or Name: Mahaveer Madhan 25.02.222 No. Item Head Item Description Quantity Units Rate Tiles Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor Corriddor tiles Flooring Flat no. 1 to 8 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT 17.00 Total	Project:	Gulmohar Residency				App	roved by:	Ramprasad
Mahaweer Mahaweer Mahaweer Madhan Item Head Item Description Corriddor tiles Flooring Flat no. 1 to 8 Corridder Tiles Skirting Corridder Tiles Skirting Flat no. 1 to 8 Item Head Item Description Item Description Item Description Quantity Units Rate A697.18 Sft 17.00 Total	Work Description:	Flooring tiles laving work done	ק בייני בייני				Sign:	
Madhan Item Head Item Description Quantity Units Rate	Contractor Name	Mahama San San San San San San San San San Sa	m p- off floor Corridor					
Madhan 25.02.222 Item Head Item Description Item Description Corriddor tiles Flooring Corriddor Tiles Skirting Flat no. 1 to 8 Corridder Tiles Skirting Flat no. 1 to 8 Item Description Quantity Units Rate A697.18 Total		יייותות י ככן						
25.02.222 25.02.222	Prepared By	Madhan						
Item Head Item Description Quantity Units Rate Tiles Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor 4697.18 Sft 17.00 Corriddor tiles Flooring Flat no. 1 to 8 1380.36 RFT 17.00 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT Total	Date:	25.02.222				,		
Item Head Item Description Quantity Units Rate Tiles Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor 4697.18 Sft 17.00 Corriddor tiles Flooring Flat no. 1 to 8 1380.36 RFT 17.00 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT Total Total								
Tiles Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor Corriddor tiles Flooring Flat no. 1 to 8	S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
Corriddor tiles Flooring Flat no. 1 to 8 4697.18 Sft 17.00 Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT 17.00 Total		Tiles Layingin 4'X 2& 2X2 in	corriddor b-block 6th,4th and 1st floor					
Corridder Tiles Skirting Flat no. 1 to 8 1380.36 RFT 17.00 Total	,	Corriddor tiles Flooring	Flat no. 1 to 8	4697.18	Sft	17.00	79,852	
Corridder Tiles Skirting								
	2	Corridder Tiles Skirting	Flat no. 1 to 8	1380.3	6 RFT	17.00	23,466	
						Total	103,318	

Company Name:	MRMILLP								
Project:	Gulmohar Residency						Approved by:	Ramprasad	Committee or a distributed for a significant and
Work Description:	Flooring tiles laying work done in B. 6th floor	me in D Kth areas of the					Sign:		Parallel parallel of the state
Contractor Name:	Mahaveer	The in 13- our Hoor Corridor							
Prepared By	Madhan								
Date:	25.02.222								
S No.	Item Head		Α	В	C	D	Е	E = AxBxCxD	F
	Tiloglania	Item Description	Length	Width	Height	Total	Nos	Ouantity	Units
	illes Layingin 4'X 2& 2X2 in corriddor b-block 6th,4th and 1st floor	in corriddor b-block 6th,4	th and 1st fl	loor				,	· ·
-	Corriddor tilogilogilogilogilogilogilogilogilogilog								
	Source tilestricollis	Corider From 2 to 3	99.83	6.5	1.00	648.90	3.00	1946.69	Sft
		Flat no 1&8 Lobby	24.00	9.25	1.00	222.00	3.00	666.00	Sft
		Flat no.1	13.91	6.50	1.00	90,42	3.00	271.25	Rft
		Flat rio. 8	13.91	6.50	1.00	90,42	3.00	271.25	Sft
		lobby @4 &5 flats	24.00	6.50	1.00	156.00	3.00	468.00	Sft
		lobby @ Flat o 5	27. 66	6.50	1.00	179.00	3.00	537.00	Sft
		Lobby@ flat o 4	27. 66	6.50	1.00	179.00	3.00	537.00	Sft
3	1						Total	4697.18	
7	Coridder Tiles Skirting	Flat no. 2, 3,5,6	99.83	1.00	1.00	99,83	6.00	598.98	RFT
		Lobby at Flat no 1	13.91	1.00	1.00	13.91	6.00	83.46	RFT
		Lobby at Flat no 8	22.50	1.00	1.00	22,50	6.00	135.00	RFT
		Lobby at Flat no.1 & 8	35.32	1.00	1.00	35,32	3.00	106	RFT
		lobby@4 &5 flats	30.00	1.00	1.00	30,00	3.00	90.00	RFT
		At Flat no 4	61.16	1.00	1.00	61,16	3.00	183.48	RFT
		At flat no5	61.16	1.00	1.00	61,16	3.00	183.48	RFT
							Total	1380.36	

Bill for Equipment Allowance

Mahaveer, Mallapur.

Date: 18.05.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:Type of Work:

Mallapur Tiles work

Towards:

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done:	
	Tiles laying work done at B-block 1st ,4th,and 6th floor	Rs. 41,327/-
	corridor.	
	Total Amount = $1,03,318$ /-	
	Work done from date 25.01.2022 to date 25.02.2022	

Amount in words: Fourty Thousand Three Hundred and Twenty Seven Rupees Only.

Sign: Mahawar

Bill for Labour Charges

Mahaveer, Mallapur.

Date:25.02.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards:

Tiles work
Allowance for Labour Charges.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work done at B-block 1 st , 4 th , and 6 th floor	Rs. 41,327/-
	corridor. Total Amount = 1.03.318/-	
	Work done from date 25.01.2022 to date 25.02.2022	

Amount in words: Fourty Thousand Three Hundred and Twenty Seven Rupees Only.

Sign: Mahaway

Allowance for Consumables

Mahaveer, Mallapur.

Date: 18.05.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles work

Towards:

Allowance for Consumables.

		Amount
S No.	Description	20.6621
1.	Brief description of work done: Tiles laying work done at B-block 1 st ,4 th ,and 6 th floor	Rs. 20,663/-
	corridor. Total Amount = 1,03,318/- Work done from date 25.01.2022 to date 25.02.2022	
	WOIK dolle from the	0.1

Amount in words: Twenty Thousand Six Hundred and Sixty Three Rupees Only.

Sign: Nahower